BikeGuard

Despite many improvements in road safety, motorcyclists continue to
be vulnerable and the roadside safety barrier which has saved many
— motorists lives, presents a hazard when impacted by motorcyclists.
S The rider often sustains serious injuries which generally prove fatal.
Sharp bends and gradients with changes of direction are particularly
hazardous.

BikeGuard, an award winning system, is fully tested to BS EN 1317 part 2
and fully approved by the Highways Agency for use on the UK trunk
road network. (‘HA Accepted EN1317 Compliant Road Restraint

Systems” - Miscellaneous Section). BikeGuard is a high quality,
| lower steel beam that can be attached to “W” beam type safety
barriers and Open Box Beam systems to improve the safety
performance of these barriers when impacted by motorcyclists.

Used extensively throughout the UK, BikeGuard prevents motor cycles
and particularly their riders from sliding under the barrier and becoming
snagged on the barrier support posts. This considerably reduces the
extent of motorcyclist injuries and is a product endorsed by both
coroners and emergency Services.

BikeGuard is manufactured in galvanised steel, and is fixed to the
barrier with specially shaped brackets which attach to the rear of the
barrier rail, allowing the BikeGuard to perform independently of the
| barrier during impact. The BikeGuard system utilises slotted holes and
a hanging bracket to enable horizontal and vertical adjustment. The
brackets are secured to the back of the barrier with purpose designed
fixings to suit different barrier types.

The system is available in 370mm deep X 2400mm & 4800mm
(effective) long beams and a 300mm deep X 2400mm (effective) long
beam.

- BikeGuard is installed at numerous locations throughout the UK where

_ accidents involving motorcyclists had previously resulted in death or

serious injury. Since installing BikeGuard there have been accidents

~ involving motorcyclists at these sites but no injuries have been

reported. BikeGuard is available for installation now. Highway Care

. Limited will survey potential sites and offer design advice as part of
- ourcommitment to Highway Safety.

© Highway Care 17-04-2009

Highway Care Itd

The Highlands  Detling Hill Unit D = Wharton Count
Detling » Maidstone = Kent ® ME14 3HT Leominster  Herefordshire  HRG ONX 3
Tel: +44 (0) 1622 734215 » Fax: +44 (0) 1622 735106 Tel: +44 (0) 1568 610909 = Fax: +44 (0) 1568 620007 el (1)
E-mail: info@highwaycare.co.uk = www.highwaycare.co.uk E-mail: enquiry@highwaycare.co.uk = vww.highwaycare.co.uk




TERMINAL END

SECTION A-A

BRACKET

a [for terminaol end)
L =
— 30 5o
&
4 | [N
| == §_¢:|
‘ 1. -
1 Fo.
a e
216
160
4355!5 ] E'Xm[__ﬁ__ BRACKET
. | 100
7 J &---—4:[_ % | BARRIER WASHER
7 Lloigl
PINN —— r=S
I .gl 1 E{
Jesl e |
i20 )
BEAM .
t N
S
) D | @ =4 R
& -5 [==3 == ==2 -9 v_7)§
e -
? “ LL23x28 @
J V4
216 L_
160 | 800 1600 1600 800
5120
BEAM g
b
- 4i.5
] @ @ s X '::».\II
¥ o T — == o 8
7 R LLzaxze N ° T
[ V4
216 L
L en | &00 800 E00 800
| 2720
FIXING HITH
BEAH PROFILE OR
INTERMEDIATE POST OPEN BOX BEGM
-~
i D -
(=) | - 4
L,E [ i W " FIXING BRACKET
MIEX4D

© Highway Care 17-04-2009



3 3 3
5 5 5
2 % @ g %
£ & E: 2 I
w W—Beam = - == - = w —— W—Beam = HMH, —= Aﬂ,
( W Ty — W = FYRPY
M 4.8m _or_2.4m Panel ..+ +. 4.8m_Panel — .+. +.
_ 3.200 _ 1.600 _ 3.200 _ 1.600 _
I T T T 1
Bike—Guard on W—Beam
Ideal Starting Point for Assembl
3 3 3 3 3
%] 0 %] 0 5]
5 5 5 5 b5
L & L L & L 2 g
Tluu W—Beam <+ 3T — 3 —FF T ——W—Beam =+ —FF NEIK == l
— — - ———— — _
I e e -
mL _+ +. - 4.8m_Panel W m _+ .+_ 2.4m Panel _+ .+_
7 3.200 or 1.600 _ 1.600 _ 3.200 7
I T I I 1
Bike—Guard on W—Beam
Alternative Starting Point for Assembly
(only OK if start with 2.4m, then 4.8m afterwards)

The Highlands Rev | Detalls Ch'd | App'd | Title Drawn SM Dats 26.03.09
Detling HIl Checked AB Dets 26.03.09
Maidstone ¢ Tg\m mﬁm w__A_MOCb,_MU Approved AB Dets 26.03.09

Kent ME14 3HT E_m % O Assembly on W—Beam
Tol. 444 (0) 1622 74215 y ScaleatA3 | N.T.S.
Fax. +44 (0) 1622 735108
www.highwaycare.co.uk Revision Status

Copyright Highway Care 17-04-2009



Flat Clamp Plat:

M16 x 45mm

Hex Screw /

Shaped Clamp Plate

BikeGuard Hanging Bracket—

[,

BikeGuard Panel
2.4m or 4.8m Length

M16 x 45mm
Dome Head Bolt *

300
370

610+ 30

BikeGuard to be fitted
between ground and

|- underside of beam with
equal gaps top and bottom

OBB Section With BikeGuard

Flat Clamp Plate

M16 x 45mm

Hex Screw ~

BikeGuard Hanging Bracket —

Shaped Clamp Plate

BikeGuard Panel
2.4m or 4.8m Length
M18 x 45mm

Dome Head Bolt

270

61030

BikeGuard to be fitted
between ground and

|- underside of beam with
equal gaps top and bottom

B4

.4
L

OBB Section With
Up Stand & BikeGuard

M16 x 45mm Hex Screw
~

/[

BikeGuard Hanging Bracket —

BikeGuard to be fitted
between ground and

— underside of beam with
equal gaps top and bottom

M16 x 45mm Dome Head Bolt:

~)
BikeGuard Panel w_
2.4m or 4.8m Length W
o]
M16 x 45mm g g
Dome Head Bolt "l "l
Ve
W—Beam
With BikeGuard
M16 x 45mm Hex Screw
~
™~ _
BikeGuard Hanging Bracket — v
BikeGuard Panel m
2.4m or 4.8m Length é o o =
]l § |

BikeGuard to be fitted
between ground and

[ underside of beam with equal
gaps top and bottom

= —- 2 <

4a

W—Beam

With Up Stand & BikeGuard

The Highlends Rev | Detalls Chkd | App'd | Thle Drawn MH Date 16/03/09
Detiing Hi A AB | AB Checked AB Dets 16003009
g&”?“—.d Emwgm nmﬂw B | Fasteners amended SM| AB mm—n¢9=m—d 1—.0.3_3 Approved AB Dato 16/03/08
oy s o ¥ on OBB & W-Beam  [swwams | ma
Fax. +44 (0) 1622 735108
www.highwaycare.co.uk Revision Status

Copyright Highway Care 17-04-2009



.m*w.

.%.

/

M16 x 30mm Dome Head mo_*w\

/z_‘_m x 45mm Dome Head Bolt &

M16 Oval Washer

)

(

N\

%a x 30mm Dome Head Bolts

/z:m x 45mm Dome Head Bolt &

M16 Oval Washer

The Highlands Rev | Detalls Ch'd | App'd | Title Drawn SM Dats 26.03.09
jp_.“ Checked AB Date 26.03.00
Maidsione | T T . - Approved AB  |Dae 260300
Kt AE 3T I@éé% Care BikeGuard Jointing [~ ———~
Tel. +44 (0) 1622 734215
Fax. +44 (0) 1622735108 Status

www.highwaycare.co.uk

Copyright Highway Care 17-04-2009



BikeGuard - Picture Gallery

© Highway Care 17-04-2009

Highway Care Ltd

The Highlands e Detling Hill Unit D * Wharton Courl
Detling » Maidstone = Kent ® ME14 3HT Leominster  Herefordshire  HRG ONX
Tel: +44 (0) 1622 734215 = Fax: +44 (0) 1622 735106 Tel: +44 (0) 1568 610909 * Fax: +44 (0) 1568 620007
E-mail: info@highwaycare.co.uk » www.highwaycare.co, E-mail. engquiry@highwaycare.co.uk = www.highwaycare.co.uk






